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THy—z=2
3r+4y —z=17
| 2z +y+8z=-1
( 3x—6y+52=28
—2x4+4y—Tz=2

r—2y+2z=2

( 2x4+y+32=3
6 +3y+92=9
(| —4x — 2y —62=—6
20+ 2y —52=17
—r—y—z=14
—zr—y+dz=-1

(4o +2y+62=17
20 + 3y + 132 =8

r+3y+ 142 =6
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20+2x+4y+32=05
2w+ 3x + 10y + 82 =8
2w+x+8y+3z=1
—2w—-—zr+2y+2z=-2

w+3r—2y+z=1
3w+9r —dy+52=9
2w+ 6x —3y+42 =38
w—+3xr 4+ 5z =13

w+2r+y+6z=-1
—w —2x+2y+ 10z = 2

w—+2x — Ty — 26z = —4

2w+4r — 3y — 8z = -2

2w+3z -5y — 132 =5

w—4r — 19y + 21z = -3
2w+ Tx 4+ 35y — 372 =5

—w —bHxr — 8y + 24z = —6

20w —x—8y —22=28

3w—Tr —23y+22=206
—Hw + 122 + 39y — 9z = —15

2w —2x — 10y — 32 =5
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